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Taking®as first function and sec?8 as second function and integrating by parts, we obtain
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Whenx =1,t=2andwhenx=2,t=4
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The value of the integral “ A is
A. 6
B. 0
C.3
D. 4
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When & = sin '[ | i = 1\,-"5 and when # = 1; =1
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Hence, the correct Answer is A.

i, f(x)= [;':sinufr.mcn_f"{x]is

A. cos x + x sin x
B. x sin x
C. x cos x
D. sin x + x cos x

Answer
f(x)= [ tsintdr

Integrating by parts, we obtain
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.f-{x}zrfsinnﬁ— L{[%:] Isin :df}/dr
= [a‘[—cusr}]: - f{—cusf}dr

=[-tcosr+sint;

=—xCosx+siny

= f"(x)= —[{x{—sin x}}+cosx]+ COS X
= J.'Sin..r_ COSXx+COs5X
=xsinx

Hence, the correct Answer is B.
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